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   I          A. (Individually) review the answers for the assignment on the sheet attached at the end of this workshop. Put your 
results at the top of your assignment in the following form  +  #similar to answers, - # missing the mark, ? #unsure and 
turn them in by the end of class. 

B. (In small group)  discuss any items that you found difficult .   Discuss the pattern  of the argument in   
exercise 2.2 even ? 

     C. Plenary discussion of any remaining problems. 
 

    II   Comments on why the good patterns work and faulty ones don’t. 
 
 
 
 
 
 

 
 

Assume these are all Alternatives for A 
   If I go outside 
 
   If I eat a lot of ice cream 
 
   If I sit by the window 

                B 
      then I’ll get cold. 

 
 
 
 

      If A, then B 
      A 

∴ B 

      If A, then B 
      B 

 ∴ A 

      If A, then B 
      Not B 

∴ Not A 

      If A, then B 
      Not A 

∴ Not B 

  
III A. In a small group, read  selection Gender Tests May Not Be Worth Risk of Misuse on the back of this page. Restate in 

standard form what you take to be the main argument put forth in it.   
      B. Plenary discussion of the task 
 

IV. Plenary discussion on using patterns to “fill-in” implicit premises 
 

A 

We have a choice.  Unfortunately, we risk 
environmental catastrophe because we will 
not curb hydrocarbon emissions 
 
(1) Either [                                      ], 
     or we risk environmental catastrophe. 
(2) We will not curb hydrocarbon  
      emissions 
 
∴ We risk environmental catastrophe. 
 
 
 

B

Even if we act immediately to tackle the 
problem of climate change, coastal areas 
will face devastation.  A growing consensus 
of climate scientists  believes that in the best 
case scenario, even if we take extreme action 
to protect the environment, there will be a 1 
to 2 meter rise in sea level. 
 
 (1) If we act immediately to tackle the 

problem of climate change, then there 
will be a 1 to 2 meter rise in sea level.. 

(2) If  [                                              ],  
      then [                                            ]. 
∴ If we  act immediately to tackle the 

problem of climate change, then coastal 
areas will face devastation.  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

V  A. (In a small group)  
1. Read and discuss the main point in the article Eschewing politics a small price to pay for tax breaks 

churches demand on third page. What is the main  point of the author and how in general is it supported? 
2. Discuss how to fill in the blanks on the page that follow it.  List the pattern.  
3. Discuss how some or all of these reconstructions could be linked into a more extensive version of the 

overall argument in the passage 
        B. Plenary discuss the overall arguments 

 
Assignment for Tuesday, April 15: Read remainder of Chapter 3 Submit Exercise 3.1 #1 f, h, j  

#2 d, f, h, j, l, n, p, r, t,   #3 b, d 





 
 
 





  

Sample Assignment Answers  Check your our assignment. List the number 
out of 14 that are similar to those in the samples, the number that missed the mark 
according to your fellow students and the number  of items about which you are 
unsure.  

 
 
 
Exercise 2.2 even 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

(1) If your relationship with 
     your spouse were based 
     on fair exchanges then it 
      would be stable. 
(2) It is not stable. 

∴  Your relationship with 
      your spouse is not based
      on fair exchanges. 

 
Exercise 2.3 #2 b,d, f, h ,i , k 
 

2b. (1) If A, then B . 
      (2) Not B. 

    ∴  Not A. 
 
 
 
 
 

 

 
 2.   (1) Either the government should protect children 

from abuse and neglect by their parents, or it 
should reinstitute orphanages. 

(2) The government will not protect children 
from abuse and neglect by their parents.  

      ∴ The government should reinstitute orphanages.
 
 6.   (1) If you respected my opinion, then you would

 seek my advice. 
 (2) You don’t seek my advice. 
 

      ∴  You don’t respect my opinion. 
 
10.   (1) If we want to combat AIDS, then we must 

prevent drug users from sharing dirty 
needles. 

(2) If we must prevent the sharing of dirty 
needles,  
then the ban on selling needles should be 
lifted. 

(3) We do want to combat AIDS. 

         ∴  The ban on selling hypodermic needles 
should be lifted. 

 
4.   (1) If you take too much pride in your physical 

appearance, you will dread growing older.
 (2) You take too much pride in your physical 

appearance. 

      ∴   You will dread growing older. 
 
 8.   (1) All restrictions on smoking are restrictions 

on personal freedom. 
(2) All restrictions on personal freedom are in 

need of strong justification. 

      ∴  All restrictions on smoking are in need of 
strong justification. 

 
12.   (1) Marriage takes a great adjustment. 

(2) If it takes a great adjustment, and the young
find such adjustment difficult, they should 
discouraged from marrying. 

(3) The young find adjustment to the demands o
marriage difficult. 

         ∴  The young should be discouraged from 
               marrying young. 
 

2d. (1) All P1’s are P2’s. 
      (2) All P2’s are P3’s. 

∴  All P1’s are P3’s. 

(1) Anyone who deceives others is 
manipulating  their choices. 

(2) Anyone who manipulates the 
choices of others is guilty of a 
form of coercion. 

∴ Anyone who deceives others is 
guilty of a form of coercion. 

 
 
 

 2f.  (1) If A, then B 
     (2) Not B. 

∴ Not A. 
 
 
 
 
 
 

2h. (1) Either A or B. 
      (2) Not A. 

    ∴ B. 

(1) Either students will become 
more interested in learning 
for its own sake, or 
universities will become 
more vocationally oriented. 

(2) Students will not become 
more interested in learning 
for its own sake. 

∴ Universities will become 
more vocationally oriented. 

(1) If Alvin has fulfilled the 
     graduation requirements, 
     then he is eligible for 
     graduation. 
(2) Alvin is not eligible for 
     graduation. 
∴  Alvin has not fulfilled the 
      graduation requirements. 



 
2i.  (1) If A, then B. 

        (2) If B, then C 

      ∴  If A, then C. 

 
 
 
 
 
 

Exercise2.3 #3 b,d 

(1) Everyone who watches a 
lot of violent films 
eventually becomes 
desensitized to violence. 
(2) Roberta watches a lot 
of violent films. 

∴  Roberta will eventually 
become desensitized to 
violence. 

2k.  (1) All P1’s are P2’s. 
       (2) m is a P1. 

     ∴  m is a P2. 
 

(1) If a human being is created at the 
moment of conception, then 
abortion always kills a human 
being. 

(2) If abortion always kills a human 
being, then it is never justified. 

∴  If a human being is created at the 
moment of conception, then 
abortion is never justified. 

 
 3b. (1) If A, then B. 

(1) If we abolish capital 
punishment, then prisons will 
become more crowded. 

(2) If prisons become more 
crowded, then we will have to 
build more prisons. 

(3) We don’t want to build more 
prisons. 

∴  We shouldn’t abolish capital 
punishment. 

       (2) If B, then C. 
       (3) Not C. 

     ∴  Not A. 
 
 
 
 
 
 
 
(Note that premise 3 is not precisely the denial of the consequent of premise 2.We are using “not C” to mean 

something broader than denial here.. 
 
3d. (1) If A, then B or C. 
     (2) A. 
     (3) Not C. 

    ∴ B. 
 
 
 
 
 
 
 
 
 

 
 

Exercise 2.4  #2 
 
   . (1) Rape is a terrible crime. 

        (2) If rape is a terrible crime, then the government has an  obligation to 
 control anything that promotes it. 

     (3) Pornography promotes rape. 

(1) If we limit welfare to a few 
years, then we must either 
guarantee health care to 
everyone, or we must be 
willing to let those taken off 
welfare go without health 
care. 

(2) We have limited welfare to a 
few years. 

(3) We are not willing to let those 
taken off welfare go without 
health care. 

∴ We must guarantee health care 
to everyone. 

 

   ∴  Government has an obligation to control pornography. 
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